ANGLAIS 1/1

ANSWER KEY
|. READING COMPREHENSION (8 marks)

A/ Information transfer
Possible answer
1- Helps improve mothers and children’s health.
2- Help a woman to lose weight after birth
3- Avoids early pregnancy (form of birth control)
4- A risk of transmission of AIDS for babies.
5- The cost (it's not free)
6- Does not contain all the essential nutrients in human milk

B/ True / False
7- False linel/and line 8.
8- False line 12

Cloze test

9- Infant formula
10-Effective
11-Improve
12-Compete

Referencing

13-1t: breastfeeding

14-These areas : countries where the AIDS epidemic is so high.

Linguistic competence
Dialogue completion

15-What's wrong with you? What'’s the matter with you?
16-What did you go to the doctor’s for?
17-What did the doctor say?

Word derivation
18-Feed
19-Efficiency
20-Unhealthy
21-Advise

Sentence combination

13G33AR
Séries : S1-S2-S2A-S4-S5

Epreuve du 1° groupe

22- Some women opt for breastfeeding whereas others prefer infant formula.
23-Many babies have a good nutrition; as a result, they are very healthy.
24-Generally women may not get pregnant as long as they breastfeed their children.

Writing: Minimum 15 lines

1- Relevance to the topic (2 mark)
2- Coherence / Cohesion (1,5 marks)
3- Grammar (1 mark)

4- Presentation (0,5 mark)



